Instructor:  SHAMEEM SIDDIQUI

1.

Soap bubble ‘A’ is given a negative charge and soap
bubble ‘B’ is given a positive charge, then radius of
bubble ‘A’ and ‘B’

(a) decreases, Decreases

(b) increases, decreases

(c) decreases, Increases

(d) increases, increases

A body can be negatively charged by:

(a) rubbing

(b) by connecting it with earth under the influence
of positively charged conductor

(c) by connecting it with negatively charged
conductor

(d) all of the above

Find the charge on an iron particle of mass 2.24 mg,
if 0.02% of electrons are removed from it.

(a) -0.01996 (b) 0.019996C

(c) 0.02C (d) 2.0 C

Two bodies are charged by rubbing one against the
other. During the process, one becomes positively
charged while the other becomes negatively charged.
Then mass of each body:

(a) remains uncharged

(b) charges marginally

(c) and total mass changes slightly

(d) changes slightly but the total mass remains
uncharged.

A glass rod rubbed with silk is used to charge a gold
leaf electroscope and the leaves are observed to
diverge. The electroscope thus charged is exposed
to X-rays for a short period. Then:

(a) the divergence of leaves will not be affected

(b) the leaves will diverge further

(c) the leaves will collapse

(d) the leaves will melt

When a glass rod is rubbed with silk, it:

(a) gains electrons from silk

(b) gives electrons to silk

(c) gains protons from silk

(d) gives protons to silk

Five balls numbered 1 to 5 are suspended using
separate threads. Pairs (1, 2), (2,4) and (4, 1) show
electrostatic attraction, while pair (2, 3) and (4, 5)
show repulsion. Therefore ball 1 must be:

(a) positively charged (b) negatively charged

(c) neutral (d) made of metal
Number of electrons in one coulomb of charge will
be:

(a) 5.46 x 10%
(c) 1.6x10%°

(b) 6.25 x 10'8
(d)9 x 10"
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When 10'° electrons are removed from a neutral
metal plate, the electric charge on it is:

(a) -1.6C (b) +1.6C

(c) 10"°C (d 10 C

The electric charge in uniform motion produces:
(a) an electric field only

(b) a magnetic field only

(c) both electric and magnetic field

(d) neither electric nor magnetic field

The charge on 500cc of water due to protons will be:

(a) 6.0x10*C (b) 2.67x10"C
(c) 6x10*C (d) 1.67x10%C

Identify the wrong statement.

(a) Charge is a vector quantity

(b) Current is a scalar quantity

(c) charge can be quantised

(d) Charge is additive in nature

If a charge on the body is 1 nC, then how may
electrons are present on the body?

(a) 1.6x10" (b) 6.25x10°
(c) 6.25x10%" (d) 6.25x10%

A cylindrical conductor is placed near another
positively charged conductor. The net charge acquire
by the cylindrical conductor will be:

(a) positive only (b) negative only

(c) zero

(d) either positive or negative

When a piece of polythene is rubbed with wool charge

of _2x1077C is developed on polythene. W is the
amount of mass which is transferred polythene?

(a) 5.68x107""kg (b) 6.25x107"? kg
(c) 9.63x107""kg (d) 11.38x107" kg

If 10'° electrons are acquired by a body every second
the time required for the body to get a total charge
of will be:

(b) 2 days

(d) 20 yr
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